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¯K 1. �½¢ê a1, a2, . . . , an. éz� i (1 ≤ i ≤ n), ½Â:

di = max{aj : 1 ≤ j ≤ i} −min{aj : i ≤ j ≤ n},

�-

d = max{di : 1 ≤ i ≤ n}.

(a) y²: é?¿¢ê x1 ≤ x2 ≤ . . . ≤ xn, k

max{|xi − ai| : 1 ≤ i ≤ n} ≥ d

2
. (∗)

(b) y²: �3¢ê x1 ≤ x2 ≤ . . . ≤ xn ¦� (∗) ¥��Ò¤á.

¯K 2. � A, B, C,D, E Ê:¥, ABCD ´��²1o>/, BCED ´���S

�o>/. � ` ´ÏL A ��^��, ` ��ã DC �u: F (F ´�ãDC �S

:), � `��� BC �u: G. e EF = EG = EC, ¦y: `´ ∠DAB ��²©�.

¯K 3. 3�gêÆ¿m¹Ä¥, k�
ëmÀÃ´*l. *l'X´�p�. X

J�+ëmÀÃ¥�?Ûü<Ñ´*l, ·�Ò¡ù�+ÀÃ���“ì” (AO/,

<ê�u 2 ��+�´��ì).

®�3ùg¿m¥, ���ì(<ê�õ�ì) �<ê´��óê, y²: ·�o

UrëmÀÃ©��ü��¿,¦����¿¥���ì�<ê�u,���¿¥

���ì�<ê.
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¯K 4. 3 ∆ABC ¥, ∠BCA ��²©�� ∆ABC �	���u: R, �> BC

�R�²©��u: P , �> AC �R�²©��u: Q. � K � L ©O´>

BC Ú AC �¥:. y²: ∆RPK Ú ∆RQL �¡È��.

¯K 5. � a � b ���ê. ®� 4ab− 1 �Ø (4a2 − 1)2, y²: a = b.

¯K 6. � n ´����ê. �Ä

S = { (x, y, z) : x, y, z ∈ {0, 1, . . . , n}, x + y + z > 0 }

ù���n��m¥äk (n + 1)3 − 1 �:�8Ü. ¯: ���õ��²¡, §��

¿8âU�¹ S, �Ø¹ (0, 0, 0).
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